GREAT LAKES #®
CASE& CABINET  § o7

Invest in Solid Engineering

19" EIA SRD Swing Rack

Installation Instructions
(UL60950-1/UL2416 SRD Series Equipment Rack)

Wwwe RACY. '-}ouv\l\)ovkd.com

1-866-TRY-GLCC (879-4522)



OVERVIEW

SRD Swing Racks are designed to securely hold 19" rack mount
equipment, networking equipment, phone equipment, etc. in tight spaces
or closets

Your package should include the folowing items:
COMPONENT QTY.

BRACES (TOP & BOTTOM) 2
SWING RACK SIDE WITH SWING FRAME ATTACHED 1
SWING RACK SIDE 1
1/4 - 20 X 1/2" CARRIAGE BOLTS 8
1/4 - 20 HEX NUTS WITH SERRATED FLANGE 8
3/8" - 16 SHOULDER BOLTS 2
#10-32 X 1/2" LONG, BLACK SCREWS 50
TOOLS REQUIRED: 7/16" NUT DRIVER, PHILLIPS HEAD
SCREWDRIVER

SPECIFICATIONS
PART NO. H w D RMU
GL24SRD 24.12" 20.62" 24.00" 12
GL36SRD 36.37" 20.62" 24.00" 19
GL48SRD 49.62" 20.62" 24.00" 26

Certifications: UL Listed

Construction: Body: 12 gauage steel; Rails: 12 gauage steel
Finish: Black Powder Coat

Grounding: Studs located on mounting channel

Rail Type: #10-32 UNF Tapped

Total Maximum Load Capacity: 100 Ibs. for all sizes






Masonry Wall Surface
For a masonry wall surface, the installer must provide all the appropriate
hardware.

A

WARNING: Improper handling and use of the SRD Swing Rack could result in
equipment damage, serious injury, or possible death.

ASSEMBLY INSTRUCTIONS

1/4-20 Hex Nuts w/Serrated
Top/Bottom Brace (QTY. 2) \

Flanges (QTY. 8)

1/4-20 x 1/2" Lg. Carriage
Bolts (QTY. 8)

Socket Head Shoulder Bolts
with 3/8"- 16 Thread (QTY. 4)

Swing Frame Ships
/Panially Assembled

Swing Rack Side

Nylon Shoulder Washer /

M6 x 12mm Copper Ground
Studs, (1) On Swing Frame

Socket Head Shoulder Bolts and (2) on Swing Rack Side

with 3/8" - 16 Thread (QTY.4)

STEP 1.
Attach the top and bottom brace to swing rack sides using the
1/4 - 20 x 1/2" carriage bolts and 1/4 - 20 hex nuts.

STEP 2.
Close swing frame and attach using the shoulder bolts.

STEP 3.
Mount the assembly to the wall with four lag screws (these are not
provided; The installer is to determine correct hardware for the type of

wall). Mounting holes are designed for 3/8" hardwares, 16" on center.
5






